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Mike is a sole trader. He owns a shop selling fruit and vegetables. ‘I am always looking for
ways of increasing my profits’ he said, ‘but it is hard to compete against big supermarket
shops. | have low profit margins on most of my goods so | cannot cut prices any more.
The business also has an overdraft with the bank.

(a)

(b)

(c)

Identify two variable costs of Mike’s business.
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Identify and explain two advantages to Mike of using a bank overdraft.
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(d) Identify and explain three methods that Mike could use to compete against larger For
competitors. Examiner's

Use
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Imogen is a Human Resources manager in a chain of hotels. Recruiting and retaining For
employees is a major part of her job. ‘Recruiting staff is easy but keeping them is much harder’ |examiners
she said. The employees are paid a wage plus a bonus but wages are low. All employees are Use
given an employment contract when they join the company.

(a) Identify two items that are in an employment contract.

(c) Identify and explain two possible reasons why wage levels are low in this business.
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(d) Other than paying higher wages, identify and explain three methods that Imogen could For
use to help keep staff. Examiner’s
Use
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(e) Do you think that it is always important for a business to reduce the number of
employees leaving each year? Justify your answer.
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Manfred is the Finance Director of a large public limited company BTX. After looking at the
data in Table 1, Manfred was worried that BTX might be facing problems.

Table 1: Selected Financial Data for BTX ($°000s)

2008 2009
Sales 1200 800
Net profit 200 100
Capital employed 1000 400
Dividends 150 20

The current ratio was 1.2 in 2008 and 1.5 in 2009.

(@) What is meant by ‘dividends’?

...................................................................................................................................... [2]
(b) Calculate the return on capital employed (ROCE) in 2009.

...................................................................................................................................... [2]
(c) Explain how ROCE can be used to assess the performance of a company.

...................................................................................................................................... [4]
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(d) Identify and explain three ways by which the company can improve its net profits.

For
Examiner’s
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(e) Do you think that the management of BTX should be worried about the performance of
the company in 20097 Justify your answer.
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4 Gorgeous Chocs is a manufacturer of high quality chocolates. The company spends a lot of For
money on marketing but the management knows that it is important that such spending is |examiners
cost effective. The company accountant has just introduced new financial budgets for each Use
department.

(@) What is meant by ‘cost effective’?

(c) Identify and explain two factors that Gorgeous Chocs needs to consider in designing
the packaging for its products.
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(d) Identify and explain three factors that Gorgeous Chocs should consider when For
advertising its products. Examiner's

Use

= (o (o] g

(o] F= T = U0 o PP PPPPPRPPP

= (o] (0] =S RP R
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(e) Do you think that the prices charged by Gorgeous Chocs for its products are important
in determining the success of these products? Justify your answer.
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5 ATC is a large exporting company with many offices throughout the world. The senior
managers know that effective communication is vital in such a large business. Recently the
management held a meeting to consider ways of improving communication in the business.
Discussion focused on the problems of one-way communication and the importance of
feedback.
(@) What is meant by ‘one-way communication’?

(b) Identify two benefits of the telephone as a means of communication.
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(c) Identify and explain two benefits to the management of receiving feedback from
employees.

=TT L= {1 A ISR

EXPIANATION: .

BN it 2 . e
EXPIANATION: .o e e e e e e aan

© UCLES 2010 0450/12/0/N/10

For
Examiner’s
Use



11

(d) ATC invests heavily in new technology in its business. Identify and explain three For
benefits that ATC may gain from this investment in new technology. Examiner’s
Use
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(e) As a large employer of people, ATC knows that it must follow all the laws that affect
people at work. Do you think that such laws benefit both ATC and its staff? Justify your
answer.
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